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be prime

Find 10 less Write the value of Divide by 10 Find O.1 less Round it to the
each digit nearest 10
300,000
6,000
500
306,496 6 30,650.6 306,505.9 306,510
Double it Find 10,000 less Halve it Reverse the digits to
make another
number then find the
difference between
them
306,506
613,012 296,506 153,253 299,097
Round it to the Find 0.01 less Reverse the digitsto | Isit prime or How many more to
nearest 1000 make another composite? Explain. make one million?
number then add
them together .
Composite:
it’s a multiple of 2
307,000 306,505.99 912,109 andthereforecan’t | g9z 494
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